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QUESTION 1

Given the code fragment:

StringBuilder sb = new StringBuilder () ;

Sh.append ("world");

Which code fragment prints Hello World?

A. sh.insert(0,"Hello "); System.out.printin(sb);

B. sh.append(0,"Hello "); System.out.printin(sb);

C. sb.add(0,"Hello "); System.out.printin(sb);

D. sh.set(0,"Hello "); System.out.printin(sb);D

Correct Answer: A

Explanation: The java.lang.StringBuilder.insert(int offset, char c) method inserts the string representation of the char
argument into this sequence. The second argument is inserted into the contents of this sequence at the position
indicated by offset. The length of this sequence increases by one.The offset argument must be greater than or equal to

0, and less than or equal to the length of this sequence.

Reference: Java.lang.StringBuilder.insert() Method

QUESTION 2

Given the code fragment:
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public class App {
String greet = “Welcome!”;
public App()
String greet = “Hello!";

}
public void setGreet() {

String greet = “Good Day!”;
}

public static void main (String[] args) {
App t = new aApp();
String greet = “Good Luck!”;
System.ocut.println(t.greet);

Which code fragment at line 10 prints Welcome 100?

16~ public class App {

57 5tring greet = "Welcome!";
18 - public App() {
) S5tring greet = "Hellal”;
20 }
21~ public vold setGreet() {
22 String greet = "Good Day!";
23 }
24
25~ public static void main(String[] args) {
2 App £ = naw App();
27 String greet = "Good Luck!™;
78 System.out.println(t.greet);
9 1
38 1
Result

CPU Time: 0.24 sec(s), Memory: 32280 kilobyte(s)

A. Option A
B. Option B
C. Option C

D. Option D

170-808 PDF Dumps | 120-808 Exam Questions | 1Z0-808 Braindumps


https://www.geekcert.com/1z0-808.html
https://www.geekcert.com/1z0-808.html
https://www.geekcert.com/1z0-808.html

VCE & PDF https://lwww.geekcert.com/1z0-808.html
2024 Latest geekcert 120-808 PDF and VCE dumps Download

GeekCert.com

Correct Answer: B

public class OraString |
String s;
public boolean eguals (OraString str) |
return this.s.equalsIgnoreCase (str.toString());

}
OraString(String s) {
this.s = s5;
}
}
QUESTION 3

Which is true about the switch statement?

A. Its expression can evaluate to a collection of values.

B. The break statement, at the end of each case block, is optional.
C. Its case label literals can be changed at runtime.

D. It must contain the default section.

Correct Answer: B

Reference: https://www.geeksforgeeks.org/switch-statement-in-java/

QUESTION 4

View the exhibit.
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Given the code fragment:

Which change enables the code to print the following?

James age: 20 Williams age: 32
A. Replacing line 5 with public static void main (String [] args) throws MissingInfoException, AgeOutofRangeException {
B. Replacing line 5 with public static void main (String [] args) throws.Exception {

C. Enclosing line 6 and line 7 within a try block and adding: catch(Exception el) { //code goes here} catch
(missinginfoException e2) { //code goes here} catch (AgeOutofRangeException e3) {//code goes here}

D. Enclosing line 6 and line 7 within a try block and adding: catch (missinginfoException e2) { //code goes here} catch
(AgeOutofRangeException e3) {//code goes here}

Correct Answer: C

170-808 PDF Dumps | 1Z20-808 Exam Questions | 1Z20-808 Braindumps 5/6


https://www.geekcert.com/1z0-808.html
https://www.geekcert.com/1z0-808.html
https://www.geekcert.com/1z0-808.html

GeekCert.com

QUESTION 5

Which two initialization statements are valid? (Choose two.)
A. Boolean available = "TRUE"

B. String tmpAuthor = author, author ="Mc Donald";

C. Double price = 200D;

D. Integer pages = 20;

Correct Answer: CD

Reference: http://www.functionx.com/java/Lesson06.htm
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